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ABSTRACT

The health condition of the aged in
Jae—Ju region and demand survey for

exercise prescription

Kim-Suk-Jin

Directed by Prof. Kim Do-Hee
Dept. of Physical Education
Graduate School, Honam University,

Kwangju, Korea

Not only to find expectations of exercise prescription service but also the
health condition of the aged, the following survey of the aged above 65 (total 155
ppl, 70 males & 65 females) who are coming and goings to the hall for elders in
west-side of Jae—Ju Island has found the needs of exercise prescription program
and the health condition of the aged based on their will.

The conclusions are as below:

Among the aged, they are not in good health condition in subjectively
(51.6%) and have a regular medical check—up once a year. The most worried part
of the body is skeletal muscle system(51.6%) and has suffered by neuralgia &
arthritis(54.8%).

Following their dietary habits, a mixed food is main and meat, fish,
vegetable by evenly is their side dishes. It also shows that people like to drink
much of the aged group 60s than 70s, males who are worse scholar than females
with the average amount, 2 hop or less than 1 bottle of So-Ju. Over all, the more
than average are non-alcoholic drinker. For tobacco, overall people are non-smoker
beside less than 5-10 cigarettes per day for smokers.

People seldom go to hospital unless they are attacked a disease and the most
concern of their life is their Health, as well as the financial problem.

To improve and keep their health, what most people do is the exercise for
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more than 4 times a week (38.7%), longer than an hour (35.5%) frequently. The
main types of excercise are such as walking and jogging with friends around
hometown.

The aged people who never had exercise prescription program in exercise
prescription room, take an important issue into having the exercise prescription
program to manage their health (87.1%) and are willing to participate the

program(51.6%).
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